
1 
 

R A M A K R I S H N A  M I S S I O N  V I D Y A M A N D I R A  

(Residential Autonomous College under University of Calcutta) 
 

B.A./B.SC. SECOND SEMESTER EXAMINATION, MAY-JUNE 2013 
FIRST YEAR 

Date : 22/05/2013  Philosophy (General)  

Time : 11am – 2pm Paper : II Full Marks : 75 

 
 

Unit-I 
 

1. Answer in brief (any two):– 2×5 

 a) What is a concept? Is concept identical with mental-image? 

 b) Discuss Locke’s criticisms of Innate ideas? 

 c) Distinguish between extreme form of empiricism and moderate form of empiricism. 

 d) Why is the proposition ‘7 + 5 = 12’ regarded by Kant as a synthetic a priori proposition? 

 

2. Answer any one:– 1×15 

 a) (i) What are the different senses in which the word ‘know’ is used? 

  (ii) What is propositional knowledge? Explain the necessary and sufficient conditions of 

propositional knowledge. 7+2+6 

 b) Explain and examine Rationalism as a theory of the origin of knowledge. 8+7 
 

Unit-II 
 

3. Answer in brief (any two):– 2×5 

 a) Explain the nature of the relation of entailment. 

 b) What is Hume’s view regarding causal necessity? 

 c) Explain the two senses of ‘identity’ as mentioned with reference to the Identity theory of body 

and mind. 

 d) Is Descartes theory of Interactionism consistent with the law of conservation of energy? 

 

4. Answer any one question:– 15 

 a) Causal relation is nothing but constant conjunction – Discuss critically. 

 b) Explain the theory of Parallelism regarding the relation between mind and body. Do you 

consider this to be a satisfactory theory? 10+5 
 

Unit-III 
 

5. Answer in brief (any two):– 2×5 

 a) What is the difference between non-moral and immoral action?  

 b) Is a habitual action an object of moral judgement? 

 c) ‘It is better to be a Socrates dissatisfied than a pig satisfied.’ – Who makes this statement? 

Explain the idea contained in it. 

 d) What are the forms of reformative theory of punishment? 

 

6. Answer any one:– 1×15 

 a) What is Utilitarianism? Discuss, in brief, Mill’s Utilitarianism. 5+10 

 b) Why is a criminal punished? Discuss with reference to the different theories of punishment. 15 

OR 

  On what grounds does Peter singer argue that killing of animals is morally wrong? How far do 

you support his view? 10+5 
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